A A agally dpe 483

Lecture 8

Adjectives
Lia gl @l jlall 5 cliall 33l 41
Adjectives:
Adjectives are words which we use to describe people, things, events... etc.
raldall
a5 Lt (i) Caa gl Lgariiass S (e 5 5l (A
eAdjectives can be divided into two groups:
1. Attributive Adjectives
Attributive adjectives appear before the noun.
e.g. Thisis animportant lesson.
2. Predicative Adjectives
Predicative adjectives appear after the noun, in the predicate.
e.g. Thislesson is important.
DO saa ) Clhial) andl LSy
il claall gl Attributive Adjectives -1
4SSl o) sxiwall cliall s Predicative Adjectives -2
: Adiedl) cldal) 1 Jg¥) g il -1
canY) B el o
(pre-modifier ) 48 Jawe S au¥) J8 Sl a3l g g o) 13 e b
(This is an important lesson): Juall 13a 3
4da 2 > Important
N ! > Lesson
O3 SY LS dgand 4o gane A 5 (NP) 4xensd 3L & > an important lesson

Attributive Adjective * important 13 « lesson ol Il U8 ciela important 4elS of Jaads-
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DAl gl Baluall cilial) 1 SEN £ 4l -2

clause 95}333 Qi gy ddavall Jaall UJS'J} (A.'u.m]\ -Predicate) dig Jelall o st IS Ladie \5)5333 \h‘\-
sl Predicate s sl Jeld lesentences

A 0sS5 Al o3 of sf) anll 2 ek Predicative Adjective 41 o) Jsi Blhaiall 138 (he 131 -
(Predicate

(This lesson is important) : Jidl &
This lesson < (NP) dxau¥) 3 jluadl o Jaadls
(NP) a¥) 52 lesson s

I b & ela(important) Al 13 (is) 255280 Jad 3ay5 (lesson) aw¥) 3 ek (important) daall (Sl
(Predicate)

This lesson < s ileall s2a & Jelall 1)
is important < s Predicate J s
Predicative Adjective = e 1 | Predicate ) (& <& ks daall

eMany adjectives can be used both attributively and predicatively, e.g. the adjective
“important” in the two previous examples.

| 5add5 o) Sy cldall e AU
Le 405 4l saie — predicatively S s 482 - attributivelyS

S ,al5,6y attributivelyS 5,6 jedai 8 | o) (plid) i “important” ddall LD Jls
predicatively

eSome adjectives can only be used attributively.

e.g. main, principal, chief
 attributively < i 233305 o (S8 cliiall e 5*
-the main reason is v/ predicate J & (N) au¥) J8 Lelai Jail (5
-The reason main % 8 jelat laall o3a (main, principal, chief) :JGe

¢ Some other adjectives can only be used predicatively.

e.g. afraid, asleep
- predicatively S L aaiiu of (Say s aY) cliall sy *

el U8 el O LeiSay Y 5 predicate ) 8 i an¥) any el Ll
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(afraid, asleep ) : Jbe
predicate J 8 Lasé au¥) axy jelai Cliiall s2a-
The man is afraid : Js2s-
My brother is asleep
Asleep my brother here : J&ll WiSay Y (<1 4
Afraid the man is here
: predicatively I os ) 5Sall LIE 4L salo**

On Omaill Sl 15 5> (an sl a ) = W) & s o 5SS predicatively ) (& claall of | a1 J s
il i e il

¢ Adjectives used only predicatively tend to refer to a temporary condition rather than a
permanent characteristic. Look at the following adjectives referring to health in the

examples below:

e.g. 1.The old manis well today.

In example 1, “well” is a predicative adjective that shows a temporary condition.

0o Yoy (4850 4l - temporary condition) () 5L sale predicatively -l L aaiis claall*
(4l 4uala -permanent characteristic)

:(permanent) s (temporary) cw GAl O e

8 mal saal & 5 < Temporary

(lasting — &aila) 5 3lgha sadl & 5 < Permanent

e b ¥ daay > (The old man is well today) :Jtie

(4850 dls - temporary condition) e 2523 A 5 predicative adjective < well 4.l

Ol (5 Gamie 0sS B al) Gan i ¢ eld say Jundl Ay 2% 38 (The old man) Jsaall da i 13
bJ&AM@U}%MdPi

DS Y i ge I ()5S0 g (i se-temporary) 43 s 1368 < The old man is well today : J s Lexie-
(AW sl (& s B 5 Gl (S

Compare example 1 to the next example, where the adjective “healthy” refers to a
permanent characteristic.

4ila ala -permanent characteristic) Y s “healthy” 4l ¢ Cua ¢ 2 Jlally 1 JUal ¢ s oY)

X
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e.g. 2.Heisavery healthy old man.
The old man is healthy.
.(&aila 4pals -permanent characteristic) #> He is a very healthy old man-

0sSi o) " healthy" Adcall s3gd (S 13) ¢ e L 1535 53 Jlas Aaay 5 gaall Ja i 1aa-
(44823 44a - Attributive Adjective 5 oxius 44a - predicative adjective)
.(4ly ipala -permanent characteristic) e 2525

¢ In a few cases the meaning of the adjectives changes according to its position in the clause.

e.g. Ahmed was late. (Ahmed did not come on time)
The late Ahmed Al-Ali lived here. (Ahmed Al-Ali, who is now dead)

.. clause J) 8 Lena s Gl e sty ddcall el 4l s S

o) ) sela e Cilite ina Led ()5S a1 U Adeall < peda 131 -

Ahmed was late :Jt

thapally i gl (8 ol ol deal o (8 Aleadl 020 G (late) AalS (sine

dleall o 8 4 predicative adjective ( late)-

The late Ahmed Al-Ali lived Il Jiall 8 LS " Attributive Adjective" 4l & Sl 38 ( [ate) 4l
here.

N < Ahmed

NP & 54mul 4c 5eaa < The late Ahmed Al-Ali

(N) ¥V d8 & yeda 5 Attributive Adjective < late

Sl gl 8 il Ahmed Al-Ali o) b Wlias < here

Sl gl 8 Cue el > The late Ahmed Al-Ali

Attributively S lgeaaing 5 Lelisi Lavie (Jate ) 4alS] iy Jaall 13-

:J 548 (Ahmed was late) 1 sY) daall e (i 23 Attributively ( late ) 4alS pladivl LiSey skl
The late man fined be arrived

AL da i o ad & oS " Attributively” Wl f as¥) J8 @ ek ((late ) 2l o Jaadl dlead) o3a b
. auY) Jd Attributively < ki ( Jate ) 4l axii cile 28 L faal ol Jsll Ga)i 1)) (K15 iy 8

(late) AulS axaiud o) liSay aanal) gl d iy ol gt b J sl )l 1lacdmaa sl) Cony iy il
(late) AulS plasiv) dliay < e B add b J il 3 5 Lexie (K predicatively sl Attributively <
A Attributively <

Exercise:
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Decide whether the underlined adjective can be used only attributively, only predicatively or
both.
a. only attributively b. only predicatively  c¢. both
1. He is a smart student.
Li€ay 223 € The student is smart < J & WiSa Ja
predicatively s Attributively < lealasiu) (Sadl (e smart 4l 13)
c. both s sl
2. The child is asleep.

S ¢« predicate A PPV IRES, Y sedall LeSay Y k;"\S\ haaddl Alaall (e » asleep FIAL Qi O 8) WS
1l LSy

The asleep child is awake now
predicatively ¢ 34 i predicate J 3 V) o233 Y (asleep) dalS 13
b. only predicatively s& <l sall 13)

3. One of the main causes of lung cancer is smoking.
(causes) ¥ J& il (main) 4l
Ayl Ji Cels g 4aall <main
~Y) < causes
(Sl & LS ¢ " predicatively” 55 o) ¢Ser Ja oSy ¢ " Attributively” Cela (main) dalS
The cause main of lung cancer is smoking
. Attributively ki U (main) 4l 1) ¢ LSy ¥ Y
a. only attributively s maall il sl

4. Are you afraid of the dark?

Dl sed L8N o2 (o y0all | A 55
:J 8 (i -statement) (o) 4l s o) ang Lin
You are afraid of the dark

&Y el a3 WS Ja epredicate s 131 (are) 2 predicate J) 8 els afraid 4l of a3
13) ¢ (afraid) coobaill o3 (pe A 5 il aguul gd LiSay V.Y fAttributively
b. only predicatively s <l sl

5. This runner is fast.
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He is a faster runner : J 8l LiSa
The fast runner is here
Attributively s predicatively S (fast) &alS alasiul Sadl ¢5a 13)
c. both s <l sall 13
Adjective Phrases
Adjective Phrases :

Adjective phrases are composed of an adjective (which functions as the head of the phrase),
a modifier (mostly an adverb), and a complement.

Aol gl il
ol a5 )

-3 iyl () S0 Lgalana > lasa - modifier =2 kel (el S Jasd ) 5 > 4da - adjective -1
4l - complement

(S s s dlaa gl &l jlal)

Bokall (a1 o Aaall odn ddda g g ot ddial) o (g ging -]
s Bale (555 Aanall o3 5 iedl Al Jle (5 5ins 5 -2
AL il e 5 5ia3 543

LA Al il o (g 5iaT 3 -4

Modifier Head Complement
good
good at Mathematics
very good
very good at Mathematics
2 Jssad) Baadl

Leslaad Gl 1) oo Liiida s 5 4d0a Ua > good -1

e 25235 jladl () st Bale W) Jadd saal 5 AalS e V) (5 53 Y el (e pe Il Ldea sl 5 5lally s e
Tow ) Ll S 13 Lial ddarad) £LY) e (Phrase) 4alS aadins of iy oK1 5 (Sl (40 4 sana
sind S AT dhia g @l e ) AT dbia 5 4dia Jeadil 4iia s @l e i J 565 L (classifications

W ealic i paill SIS & i Laie ol ga¥) Jrad a3 lalls (good) Al se s of iy 13) -
good at math -2

. (g00d) i) 4lSa Wik 5 5 ( Proposition phrase — Jsoae 5 Jla 3 le) o2 > at math
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3kl o2l (ul ) & 54 8 > good

(8 Jare) 4dia g3 e 2 > very good -3

(800d) Lulll 4l aliaa Ja 5 s & > very

5lall s3] (Nl g8 5 4ia > good

L jealiall Ll Ua -4

4a g5 e A& > very good at math

(good) U 8 Jae 5 Js > very

oI N & 548a > good

(good) Ll )l 4lee itk 5 5 ( Proposition phrase — Jssae 5 Jia3,ke) & > at math

¢ Gradable adjectives are adjectives that express a condition or quality of which there are
degrees.

il sda s il dge 5l Ay e S Glia 4 A3 X)) clial)

432 100 Asie 4353 70 isia 43 )2 50 edysia 453 10 hasia a2 0 ) Cla o Ll cliall of W J8%
(e

45l s o e Talaie | (gradable) cila o Led (588 of claall (Say 13-
For example, “good” is a gradable adjective. There are degrees of “goodness”:
.(gradable) & <5l iy 54 ¢b “good” Al e kil Ll 1) 1 Qi Jus e
:(goodness) 4alSl il o llia*
1. High Degree
e.g. very good
2 (A pall) Adlal) Ay Al -1
very good /JGs

good ¢ s 58l very good 3_ke > very good 5 good ¢ Gl s s fl e lukaadl very dalS Ll

2. Excessive Degree

e.g. too good
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D dadgia yad da ) -2
Alind i Laa ST IS (g cand i (S5 01 ¢ 3 Walins >excessive
(It is too good to be true) ¢« too good /Jt«
Aol edgd Tam 005 o el 138 (g0 @855 (S5 ol (@BIN n ST 5 a8 5 Laa ST il a8
tJs ¢ e Jlaie¥) 4 saca da o Caad of La i 13) *
4xa A > The test is difficult -
aal & > The test is very difficult-
Jall v o} 3l As il 4a 8 > The test is too difficult-
3. Sufficient/ Insufficient Degree
e.g. good enough, not good enough
P Agils jall g [ 4dll) Ay -3
Lo el (SIS e JSay ) S JS8) ey o0 5
good enough /Jt«
Sl b e i el CHIS IS8 s el inan A
not good enough /a1 Jtis
Ll Lo oo all GBS S s Canad
4. Comparative Degree

e.g. better (comparative form of “good”), smarter (comparative form of “smart”), more
beautiful

. 3.341.'&!\ i All-g
O O OO o 5 Le ST 5l da all o
" good" Al 4 jladll s ol & > better /JUe
"smart" 4elS 4 el da Al & > smarter

" beautiful" 4alS1 45 )il 4,0l & > more beautiful

5. Superlative Degree

e.g. best (superlative form of “good”), smartest (superlative form of “smart”), most
beautiful
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sdaluadll) da A -5

LOE e S e e o Jualil a5 Le Al Aluadil Aa ) A
" good" Al Aluadill Ax all & Shest /JUe

"smart" dalSl Aluadll Ax ol & > smartest

" beautiful" 4l L lundill Aa Al & > most beautiful

* Some adjective like “complete” are not gradable. They are not normally compared, nor

VTS

modified by “very”, “too” or “enough”.
el 5 a1 38 e 3 of aliaa (complete) el (Y 45 5ldie Cila 2 Ll Gud (complete) Jie clivall (s *
Miadan el e i aa g Y 5 45 5lie a3 Ld Gl (perfect ) 4alS Ll
(very- too- enough ) led iy 5 & Y el paulall (he Cliiall o34

¢ Adjectives referring to shape (e.g. round, tall) or size (big, narrow) can only modify count
nouns. They cannot modify mass nouns.

e.g. Thisisa big building. (INCORRECT: This is big water.)
(size—paall) 5 ¢ (shape— JSill) 1 (e aped 8 Claall *
round, tall /J& :( shape — JS&1) -
big, small, narrow /Jt« : ( size — aaall ) -
C(AS)) 53 sana uall elan) Jans Of LeiSay ¥ 580 sanall elansll) Jaa5 Lah ; aaall 5 JS) *
This is a big building /Jts
(refer to size) 2= 54 > big
As2e ausl 94 > building
caaal) o s s 4 Al U8 (big) AalS ¢ oae manaall (g
This is big water :Js& Laie (Sl
ALK L Y el aas ) LSy Y 4 dadala dlaal) Lia
Lol aaalS Gl sac ) Lt L (shapese JSEY) L caliay i) 5 AY) cliall i
Function of Adjective Phrases
Function of Adjective Phrases:
1. Complement of Subject +BE

e.g. Ahmed is very intelligent.
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dadia ¢l) o Ll Caitls g

s gl o3a () sagdive T W saingd 13) ¢ 5 yaall 5 sladl il jlie 5 dnant) ol bl Cailla s e ol U S5 88
Auiea o)) @l jlall A0

145 gsl) Jad 4 Je il AlaSall -1

ALl ey LiSay V5 Alaad) gine JaSTT 4y 55 im0 AlaSall-

(main verb -sbol Jad) 0 5Ss dah gl s3a (8 45 5l Jad-

Ahmed is very intelligent /e

alall 8 o il Gl Calall Axpa sa g Aleall o3 & aiall 5 ) Jadl) >is
Jeld > Ahmed

¢ dlaadl @MJ&A.“A@_ALFY Alaal) e 3 lall oda Cads (S Y g ¢ 4iagd e > very intelligent
Ahmed is very intelligent : Js& o} s ¢ daall % 5 Ahmed is : Jill LiSay

2. Complement of Direct Object
e.g. He found Ahmed very intelligent. (He found Ahmed to be very intelligent.)
t il J prdall Adagal) -2
He found Ahmed very intelligent /J%
Tas e deal of (a4l 1 o8 Aleall e Lia-

IS 2aa) o ) s g Alaadl Jina o s 43V ¢ Alaadl g3 5 ki (He found Ahmed) (s of LiSay Y-

(Ahmed) 85 iluall Js2iall aleSa & > very intelligent
3. Pre-Modifier in a Noun Phrase

e.g. My very good friend is coming to visit me.

s dzan Bile A LS Jua -3

My very good friend is coming to visit me /J%

oIV 585 au¥) > friend
4da s jle A > very good
Ada 58 ke gt 5 4l 3le & > My very good friend

Cela d 5 (friend) awY! Jd Gela Gaaa gl 5 lall O (friend) awY) clie (very good) duua sl 5 slall 13) -
AganY) bl & Ll 5 5lell 028

5 ¥l Alla 8 Adall Lpiaa (e dansY1 5 el e (o gl LS 5 ¥l o (sl Ui 13) %
AT sl Ll
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He is coming to visit me :Js&# (he) = Wi 5 (My very good friend) s_lall 2aui-
CARd A Baediall B L) Of i L (g
4. Post-Modifier in a Noun Phrase

e.g. We must find the person responsible for the robbery.

D el Bk (A gar Jira -4

We must find the person responsible for the robbery /Jtis

ol 58 5 aul > the person
ol (3% Jaxe 8 5 4dia > responsible

(him) g5 (the person responsible for the robbery) WS 5 jLall o3 Jagiusi o Saall (e 13) -
g
We must find him
(ans Jama) ol 1) Jand ed daansl) 5 jlall ae B 38 (responsible) diall o)f Jasdls-
5. Head of a Nominal Group
An adjective can be the head of a nominal group in the following special cases:
Lald s o3 > asenl 4e gaadd (Wl -5
(N) a5 AVl Ao sanall 8 Bale Gl 1) O Wl 5 Fpansd) Ol a5 pan) Ao ganall (g Tl L j0 *
ok S Apan¥) de sanall 8 Gl ) (8 Al ()5S 08 dala a8 oS
a. with a number of adjectives that refer to a class of people.

These adjectives include: blind, homeless, poor, wealthy, young, elderly, living, dead... etc.

The following are examples of nominal groups with an adjective taking the place of the
head:

Coll e A ) i Al cldall e axe aa -

blind, homeless, poor, wealthy, young, elderly, living, dead... etc /Jis

el Galiadl) (il 48 ) DA (e s (aid Lo dlea 8 blind USS Ledie-

Adall oda b € jiiall i) 238 ) DA (e i a3 Ledles & homeless SY Laie-
A b (S i) Wl 48 ) DA (e s (el Le Alaa (8 poor USS Ledie-

dead) 8 daanl 4o sanal Gl S Lealadin ey ciliiall 038 ¢ &I -
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(A 055 Led (el 1) dpans) Cle sana o ALl ALLY) *
We gave money to the poor. (the class of people who are poor)
The wealthy must help poor people in our society. (the class of people who are wealthy)
The young are our hope for the future. (the class of people who are young)
(poor) s e Gul ) 5 (4aan) 42 sa34) 585 (NP) > the poor -1
A Ada € i) el (e 20 4a o (poor) AelS 1Y)

5 (NP) 8 33l Jelill () LS3 LS 5 ¢(NP) 585 (553 WS (subject -lxiw) 43l 5 > The wealthy -2
daall 5 (The) 3laY) Lyl dad (N-pssl) Lisal Gud U a5 jlall (al )l o8 5 4dia & (wealthy) 4alS
.(NP) s (The wealthy) «(wealthy)

sl Ada b S il Gl e 30 4da o (wealthy) dalS 1)
(young) sa La ddall 5 (ul )1l 5 4seu) 42 sa3a & 5 (NP) > The young -3
il dda 8 S isiall (Wl g 45 dda o (young) Al 13
b. A few adjectives referring to abstract ideas.
e.g. The unexpected happened. The unknown is frightening.
oA Al Aalal) Allal) -

Jass Lg_'y Lead W g Ly LSy Y cl.ui\ laliza (DQJ.LA JlSéi - abstract ideas) ) s gﬂ\ GOlaall ax
Mlie 8558

The unexpected happened /J%s

The unknown is frightening
Cdais Ul 8 Jsad IS e 3 jle Lagd Lagual Y 5 Legiys; iSay Y ((unknown s unexpected ) GilS-
Agan) e A dganl 4o sanad (ul S 0l sl 38 (lisall (ila-

O (A 5 4sanl 3 e & Cels (unexpected) 4éall ((subject — I4is) & > The unexpected-
. (The) 31¥L il LY de saall

. (>3 J\Sil - abstract ideas) o)) e A 5 Apanl) Ao sanall i) 5 4da & (Unexpected) 3l 1) -

e sanall Ll )l o8 5 4anl 3 le 8 Cela (unknown) 4aall ((subject — 1is) 2 > The unknown-
. (The) 814 Cids 5 daa)

. (s302e L\Sil - abstract ideas) ) i (A 5 Asanll e sanall () 5 4da & (Unknown) AelS 1) -

c. Adjective that refer to the people of a country.

e.g. The English are very polite. (the people of England)

The French are very interested in fashion. (the people of France)

Aoll a0 4S5 ©



A A agally dpe 483

DAL e (e el () el Clbia -
The English are very polite /J%
Aseu¥) de sandll il N (& (English) deall 5 caaaul 4c sana A 5 ¢(subject — Ixix) > The English
s A (e pa (Gl ) i 4da & (English) AalS 13
The French are very interested in fashion /Jbs
e de gandll (i) & (French) ddall 5 casaul 42 sane & 5 ¢(subject — Ixix) > The French
L 84053 (e () G Y i adia o (French) &alS 13
Exercise:
Identify the function of each of the underlined adjective phrases below.
a. complement b. modifier in NP c. head of NP
1. The driver responsible for the accident paid the fine.
(driver) ol U g Jaaa & 548a & > responsible
o) s > The driver
(he) = Apans¥ 5l Jlasind i€y 45 $haens) 5 5lall Jane 431 W 3L ¢ b, modifier in NP s ol sall 13
2. The driver was careless.
S >The driver
L eulal Jod 2 5 458l Jad > was
aleSa Dpls Lin g 4da 4 > careless
cAdeall e JeS3 aga Laasa 5 (careless) 4elSé ¢ dleall g3 5 The driver was (J sl WS Y-
a. complement & < sall 13)
3. Heis a careless driver.
[(driver) (U L8 Jass 985 (a careless driver) aaes¥) 3 jlall (e ¢ 3> 8 > careless
b. modifier in NP s& <l sall 13)
4. The police found the driver guilty.
. (driver) 4 Jszdall dleSa (g8 Aleall Jime JaS3 Lealini > guilty
(subject — J=\&) > The police

Jaé > Found
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4 J 24 > the driver

Allay) ol pall inall i @3 U ) 45Y (The police found the driver : Js& o) aakaios Y*
Y A PEU{ YA P WSS B VN [ PON PN I S [P PO L O 3 [ P € A (NS S L TV
L ide s bl o el a8 g

cileall mae JLSY dagae o2 (guilty) Aalss T3)
a. complement s il sall 13

5. The elderly must be respected.
(subject — Ixix) > The elderly
eVl de ganall (ul ) o4 sS3 ddal) G Cumny LSS ) ALl GV (e A 5 dda > elderly
s Zaan¥) de sanall il a5 ¢(elderly) I dda & S sl Gl (e Ldl 4ia o (elderly)ials-
e Bl b Gl 4 (elderly) 3aS T3)

c. head of NP s& ol sall 13

Lecture 9

Adverbials (Adv)
i g lall
Adverbials (Adv):
¢ An adverbial (abbreviated as Adv) can be a single-word adverb or an adverbial phrase.

” u,

¢ An adverb is a word like “here”, “tomorrow” and “quickly” which we can use to say where,
when and how something happens. It can also express other meanings like frequency,
degree... etc.

¢ An adverbial phrase is a group of words that does the same job as an adverb.
(AdV) = paissy 8 (k)
10550 38 Caylalle
Ml - adverb” =X 5 < saal 5 4llS*

M4 )l s e — adverbial phrase" e 5 <3 le*
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e (S 5 e 5 ol ) st anadius of (Say 3 5 (quickly -tomorrow -here) Jie 4alS s 1ladl
S oAl lae e e of Lagf LSy 5 (@bl 5 Apmngll 5 ) o cle slae dany 68 i e
(s sl da )l - degree) s (33 i 3 5 - frequency)

Jall Jae i Jand A SN 0 Ao gana A 148 B 5 jal-
Adverbials include:
1. Prepositional Phrases
e.g. We were waiting in the lobby. (adverbial of place)
tdadd g hal)
D osoaall 5 el s jle-1
We were waiting in the lobby /Jt
OSall oyl la Caela 38 5 5 5me 5 s 3ole (& > inthe lobby

Ugh «anll Sigon lSa (o punt 4gilSe 4 s Dels Alaalloda (A 5 byl K508 5 nall 5 Jlall &l jle *
(sle Gl Hs aall 5 a3 e

s >n

NP > the lobby

2. Noun Phrases
e.g. | will visit my uncle this afternoon. (adverbial of time)
el Gl jlall-2
| will visit my uncle this afternoon /J%s
Okl G plaS gl it 3 Jeal 8 9 NP (& > this afternoon
CCaang 3B gl Caaa 3B e Ll Ggan G e S ha 3l oIS DpanV) 5 jlall gl Lin*
3L anl A > this
N > afternoon
3. Clauses including:
a. Clauses with a Finite Verb (finite clauses)
e.g. We need to leave before it is too late. (time)
(LIS (5S35 el jlal) o Jaal)

(333l < jlall) o ¢ 5l 138 ge 5 g caama Jad e e -
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(andlpatilic e 3l cra e i saaaall cl jlall o Tl Wl LS
We need to leave before it is too late /e
(22l paddlle e ) s ey (finite verb -2asw Jad) 8 > s
Ll saaas a5 )l 03¢3 (Clause — bbe) (o ane Jad Laa 5 13) e U S5 (i 5
Okl ke a5 lal) o34 Ak 13) (e Likae | (before it is too late) 3_ke 13-
b. Infinitive Clauses (non-finite clauses)
e.g. | am playing to win. (adverbial of purpose)
(02330 suad) il Jlall) g il 13 5o 5 edy yhae O jle o
10555 B Non-finite J) of alas LS
(b +v+ing) present participle dad®
past participle
| am playing to win /Jbs
oAl sl Al 4 jea b Laelid Ca sl Ciela U <(to + base form of the verb ) Jyas s > to win
c. Present Participle Clauses (non-finite clauses)
e.g. He ran down the road, breathing heavily. (manner)
(e23ma 5l < jlall) g il 138 seaig ¢ ualall AN iy jeadll ) jle s
He ran down the road, breathing heavily /J%

Lia Chela 38 "&JL.'AAI\ Jelal) (u.n‘ B)h.c:)ii ra palall @h 8 sl 3 lae * > breathing heavily
oo daai ol gl o sl 4 jea 8 Lacld Ca )k

Exercise:
Identify the form of the underlined adverbials. <<<< davall ga Ua qiglhaal)
a. NP b. PP c. finite clause d. non-finite clause <<<< & Ja

1. He visited me in my house.

A= >n
P.P {
nylhouse

b.PP s lsall 1y

2. He is studying to pass the exam.

(to pass) ¢ radl Jeldll Ll
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3.

4.

5.

(t0) = oLl i a2y Haas cla (pass) Jadll-
sama 1 sl non-finite < (8 il jabadll o T Ul 5
d. non-finite clause : s& <l sall 13)
Ali has an exam this morning.
3 ) @l > this
(when) Ge)ll 48 y2a & Lac i (NP) { _

~ " = morning
c. finite clause : s < sall 13

| will give you my homework after it is done.
(clause — e k) (A 5 el 48 j2a & Lae Ll > after it is done
g Jrd 4 > s

C. s sl 13 >> (finite clause -s23aa) b jlall zaaiud dase Jad Led Laa 5 13 clause J of W
finite clause

They walked together, smiling widely.
Lo e o Al 48 p2a 8 Ll (Non-finite clause — s23sa e 3 jbe ) A > smiling widely
(233« & — non-finite )52 ing + J28 > smiling

d. non-finite clause ; s <5l 13)

Many adverbials are adjuncts; they provide additional information, are part of the structure

of the clause, but are optional. Adjuncts include adverbials of:

1.

Place (position) telling us where (e.g. in the hall, there)
. Place (destination) telling us where to (e.g. to the door)
. Time (when) telling us when (e.g. at nine o’clock, today)
. Time (duration) telling us how long (e.g. for 10 days)
. Relative time telling us how long ago (e.g. just, still)
. Frequency telling us how often (e.g. always, rarely)
. Degree telling us to what extent (e.g. almost, barely)
. Manner telling us in what way (e.g. carefully, with care)

daual] 3 yalaally 138 U S3 >> (4o liial) dual 3l e Ledl U S0 il sl 5 ol 58 (S5 08 iy plall*

Ailza) e slae T Liphas g8 dlaall il JLeS) b dage e s
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Lale 5 gnadly Jlall @ jle B WL LS oq 5i€ Ll g ) 5S5 8 Cag HLal (ya aaall 13

optional- 43_kis) -

part of the structure of the clause, but are optional - 4L} (81 g3 jlall el A e 3 A=
provide additional information - 4l il slaa 2355 a-

= gl Jadd agl gl

(0df) oo Lt 1 (dpnag) Ghsall cijlang

in the hall, there /Jts

(0 ) om Los 1 (Agdy) Olsall da a2

to the door /JU«
Ul W el a2 > Mohammed is going to the door (e Ll I Caald Le add (e Ui,
"4¢> 5 — destination” > to the door

(Lo oo dian i) "R (e U a3 1 () Ol B3
at nine o’clock, today /Js
(Bl 8 gl (e aS) e Uiy 1 (038) Clall i jla-g
for 10 days /Jt«
(e sl o o) (o Uiy 1 " pead B gl " ) 2 o) Al i JE-5
I just finished it > just /J%
I still here > still
(0sSale S ) e Udy 1)) Sill G b6
150l > rarely « Laila > always /JG
(2l ) o Loty i dapd di b7

3 i ol s e gl i ey Cod La > | am almost done my HW. > &li s e — almost /0t
(el ) slgmy g e

da On eetibu € il slins s > | barely finished it while my teacher woke in > 3Slu — barely
JR0 ALY oKL caal gl

(kb ) oo Loy tle baall of &gbad gl agbedy i B8
do it carefully > carefully /Js
you should handle it with care ¢ do it with care > with care

Exercise :
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Choose the type of the underlined adverbials.
a. adverbial of frequency c. adverbial of degree
b. adverbial of manner d. adverbial of relative time
1. He always drinks tea in the morning.
a. adverbial of frequency : s wlsall 13 >> ) Sill Ca )k - adverbial of frequency > always
2. The climbers barely made it to the top of the mountain.

c. adverbial of degree : s sl 13) >> L s jal G )k - adverbial of degree > barely

3. He finished the exam quickly.

a. adverbial of @ s <l sall 13 >> Le Jaail 5f @lsld 5f o slul a5k - adverbial of manner > quickly
manner

4. My friends just arrived from their trip.

a. adverbial of 1 s sl 13>>l haail ff bl §f LY o)k - adverbial of relative time >just
relative time

5. They bravely climbed the mountain.

a. adverbial of : s il sall 13 >> L laall §f &gl 5 G 5lud <ok - adverbial of manner > bravely
manner

Note: Similar to gradable adjectives ( Lecture 8), some adverbs of manner can be gradable.
We can give different degrees of the meaning conveyed by a gradable adverb. The adverb of
manner “carefully”, for example, is a gradable adverb.

e.g. very carefully, more carefully, most carefully
Some other adverbs of manner, e.g. “perfectly,” are not gradable.
" gradable adjectives " o 4l 3 jaladl) 8 Liaad -rd gale*
la ) L sSs 8 lull 5 gluSU ) gaY) ans -
Bl Al (U8 (a) O e il il (55l il 2) Adlide il 50 2265 o LSy -
:( gradable adverb - da Al &isléia Jia) sa JieS "carefully" 4alS @sle 5 caslul Juali*
(A& jall) Zallal) &a 0l - High Degree > very carefully
4 a4l 4a )3l - Comparative Degree > more carefully

4luadill 4a Al - Superlative Degree > most carefully
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< sldie-gradable) V558 of (Sar Y « completely — perfectly /die ¢ AT dslu o sl J) ) ans®

(3=
Position of Adverbials
Position of Adverbials:
Adverbials can be found in three main positions: at the end, at the beginning or in the
middle of a clause.
D g Bl aal ga

ranll ) 5 3 L laaa 38 (g LAl

(hasiiall) Jame sl - L) o Al -

1. Final Position
It is very common for adverbials to appear at the end of a clause.
e.g. Thank you very much.
(el g sall-1
. (clause-3_ball) dlgs & seday of o ylall liaall (4
Thank you very much /J%s
. (clause-s_lall) 43 & jela B 5 iyl > very much
2. Initial Position

Some adjuncts, e.g. adverbials of place (position), time, and frequency can appear at the

beginning of a clause. The purpose of this position is to focus attention on the location, time
or frequency of events and activities. For example:

Two days ago, | saw my dear friend Ahmed. (focus on time)
In Riyadh, there is a big celebration. (focus on place)
A0l i gan2

3" frequency-_) S 5 "time -gle 1”5 “place (position) -(4xas) OSall Cag IS ¢ al il (e
o S 5 olmiyh A8l o cand) 5 A0l 8 aa el (pea i je agd 5 (clause-subiall) ol )5 heka
DS Gle ol (el oo it Laie ) ) e ol (5 leadl 8 Aa Sl ok e aat Ladie ) ad sall
Azl 5 alaal

Aleall 3 e slaall mad gainaall sl 2 3 5 Cronialli-

Two days ago, | saw my dear friend Ahmed :JEall Juws e
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(= e 5S)) >Two days ago

Of by Cannialld a3l e aaional) oliil 28] g8 ol 5 Aol sl 55 Aleall (e (a3l i ylall Lidal-
Al G lelan 8 13g] age L (a3l

| saw my dear friend Ahmed two days ago :Js& salall (-

a2 52 5 pge Alalall i JaaS La > Two days ago, | saw my dear friend Ahmed :J sl Loadl (Sadll (0

In Riyadh, there is a big celebration : I JUs
(OSall e 38 5ll) > In Riyadh
There is a big celebration in Riyadh @ Js& salall (3 -

In Riyadh, there is a big celebration : Js& JSall e aivsall ol cail s jf 13) Liagl (Saall (ya5-

3. Middle Position

Single-word adverbs of frequency, adverbs of relative time and adverbs of degree normally
appear in the middle of a clause. Their position is immediately after the operator in complex

verbal groups (Lecture 5), immediately after the full verb BE, and before any other simple

verb:

e.g.

We have often talked together. (after the operator “have”)
We are still waiting. (after the operator “are”)
We are very tired. (after the full verb “are”
We still have some money. (before the full verb “have”)
We sometimes go to Jeddah. (before the full verb “go”)
s (ciaiiall) Jagl) puda ga-3

tale (L da 0 -degree ¢l i sll-relative time <) Sil-frequency) # JlsaU sam 5l cilalSl JS

.(clause-s_ball) oy & jelas

108 pgadl ga <<< gl J gy 1938,

(€03 LS5 Auaalil] § pualanal) (B) sl dladl) e sanall (3 1) 58 (the operator -dalall) 2 -1
Tt (masl) ol 2553 a3y -2

AT g Jed 1 48 -3

We have often talked together /Ji«

. (have) ddall 22 sls (often)-

st sl Vs & shay o (Saall e 5 «dalall 8 (have) «(have talked) aixe dlad de sane Lipal
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(talked) bs¥) Jaill 38 5 (have) Jelall amy el 285 (CaLk) Jis 2 > (often)-
We are still waiting /dts

Jalall s 5 (are) A sl ad Ll ¢(are still) e Lulad 4c gana il

(waiting) ) J=ill Jd 5 (are) daladl 2z el 35 (k) da 58 > (still)-
We are very tired /J%

Jxd sl U (are) 4susl) Jad 5 cJla Cila i il Jed o el o34 b (tired) < 4alS : | 54

b
(are) Jadll 2oy L 25/ Ja > very el jaem s JsY Gkl 8 adls s/ Jeld > We
L Jis > tired Lo an ) Jadll g g dleal) 3 ol Jad [ 45538 Jad > are

We still have some money /J&s
.Y U8 A (operators — dalsall ) o Lo (s ,AY1 Jadll Js*
Js 585" have" d «ls > still bl =2 > have
We sometimes go to Jeddah /Jt«
(sometimes go) i & Ly
" go" (b Jaill Js els 5 Js > sometimes bl 22 > g0
Function of Adverbials
Function of Adverbials:
Some of the functions of adverbials include:
gkl il
i gl il ) (s
1. Adjunct
e.g. | knew her very well.
(e L) (Saall o) Aaad) Gine JLSY (5 )5 0 e 1al-1

s cstud i @lsla W cailial "very well" Ll Lial Laie 5 4liiSa 4laa 8 > | knew her very well /0l

(e sl iSa)) A5 a B iy 5 ik 8 > (very well) 1)
2. Complement of Subject +BE

e.g. That’s all right.
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Aleal) e JLSY 435 i 1A glsl) Jad g Jolill AlaSa-
That is all right = That’s all right /Jts
AlSa g gl i ok e > all right el Jad g5 Jadll > s iziall > That
3. Direct Object
e.g. They didn’t tell me why.
1) J prdal)-3
They didn’t tell me this : J &) WS ¥ > They didn’t tell me why /Jbs
Indirect Object > me 3 Direct Object > this ;oY
They didn’t tell to me : J 58l Li€ay (<1
They didn’t tell me why
(tell) Jadll " jilw ye Js28 — Indirect Object " > me
(tell) 2l " ilw J 5280 — Direct Object " > why
4. Modifier

Adverbs can modify nouns, adjectives, prepositions and adverbs.

A sl 5o snaly Jalle clialle slawl) Jaxs o LeiSey J1 ) 1Jina-4
NP > nearby hotel /1

NP Ul (il 585 N > hotel

o 8l Jadl 58 5 <ol ol Jis > nearby

NP > way ahead /2

NP U ) 58 5 N > way

ol sandll Jasdl 58 5ol f Js > ahead
48ay 3 e > completely new /3

(Al 3l ) b gl 3 lall (Wl Nl g8 5 4ia > new
o0 Ll Jaedl 8 gyl ol Jis > completely
4y 5 e > quick enough /4

(Raall 3 ke ) Lsa sl 3 lall 8 5 46a >quick

o ganall Jasall 58 5 Caska ol Jis > enough
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43 45 5 e > very often /5
W a5 skl s > often
Sl Jaxddl g8 5oyl o Ja > very
43,5 3 e > quickly enough /6
o) a5 skl Js > quickly
g Jaeddl 4 5 Cash ol Js > enough
2924 5 a8 Le > directly through /7
o) 585 y50me 5 s > through
) Jaedl) s 5k o Jis > directly
Exercise:
Identify the function of each of the underlined adverbials.
a. adjunct b. complement c. object d. modifier
1. Are you absolutely sure?
GV 585 4 > sure
" sure" ol L8 Jame 585 il ol Jis > absolutely
d. modifier : s < sall 13) daall Jas a4 " absolutely” 4S8 ¢ Are you sure? : Jsdll LiSay
2. The child followed his father very closely.

aie oLy (S 5 & 8 > very closely

a. adjunct : ss <l sall 13) Ll g 5 il s 1Y)

3. He told him when to come.
J=é > told Jelé > He
c. object 158 il sall 13 4l 4 J 280 > when e e 4 J 28 > him

4. The show ended very quickly.
48k 3 be & > very quickly
o0 8 Jaee a5 sk o Jla > very o a5 <Lk Ja > quickly
d. modifier : s& o sall 13

5. It was all right.
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sl > It
guu‘&l\ J=all sa 5 450Kl J28 > was

b. : s sl iy (AlaSa) (o Lia A lall Aada s 13) ¢ Alaal) ine JeSs a5 ik > all right
complement

— "Aduall il e Lda gl @l jladl — jgsaall g ) Gl jbe ) Ge daa) e ¢ eSia B pdilall B ualaal) EF*
(AN @l lal) — aud) @l jlal)

LecturelO

Basic Types of Clause Structure

Basic Types of Clause Structure:

¢ In making up a one-clause sentence in English, we have a choice of five basic clause
structure types in which all the elements are necessary.

* These basic types can be expanded with other optional elements like adjuncts and

modifiers.
¢ Each of these five types follows the basic pattern: Subject (NP) + Predicate (VP).

¢ In each type, the subject will normally come first and is the followed by a verb phrase.

® Only the composition of the VP changes in each type.
rAlaadl i 3 bl U Lpul) £ 9391
) 3¢ a1 oLl Al 5 ¢ saal s e b cidlial G 5 Aase Jaa b e & jle ALk

Canzi o) a5 iy ulaiY) ARl L3 (one clause sentence -saal 55 ke ) el dalad 3k 5 Lual 13-
_Kﬂ)})@ﬂw\ahce@ﬁw\uh&g

Ay ys e palic el o3 e IS 5 (clause — 4lea i 5ol ) el dpld ¢ 53l e <l L 5 Ll 13-

O WS35 iy L) pualie 54 )5 e jualic Lial 13 ¢(clauses — <_jluall) 038 g si U (Sl (o
(subject — Il sf Jeldll) rJie 4y 55 pall pualiall (any 5 V3l 5 ol sl 4 HLAY) jualiall 38 Glany
Vil SIS L ealindl s im) (Sl (e 5 jael) Bl 5218 Ll (IS 13) T3 calaal) 5 el

: A aabea) Jaall) i Aadd) 15391 038 (e S8
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Subject (NP) + Predicate (VP)
e liacale€dl /e Lol 5 a1 jualie e o aglad de sane e s 5iny o (Sedll 0 " Predicate™) &

Sllia S 5 iglad 5l o & (e s Aol iy ol o aslall e (Taiad) T Jelall) ¢ 1580 00 (e S -
DFM\%L@‘;L@N%\AUYB

OS5 L Yo LS iy Jelalls ¢ Al £ 58 o8 e g 5 U 8 Aladl) 5 L) (S 5 s Ladh yuy g2I-
Al s Ll sa a3 s Sl

¢ The VP_may contain the following elements:
1. Intransitive Verb (abbreviated as Vi)
2. Transitive Verb (abbreviated as Vt)

3. BE or another Copula

4. Complement (abbreviated as C), which includes:
a. Noun Phrase (abbreviated as NP)
b. Adjective Phrase (abbreviated as Adj)
c. Adverbial (abbreviated as Adv)
5. Direct Object (abbreviated as dO)
6. Indirect Object (abbreviated as iO)
Al 5 5Ll il (oamy Leday ) WSy A1 jualiall & o8 130 > dAN jualial) o o giad 88 4dadl) 5 jLad)-

(Vi) pJ¥ Jad-1
al— Monotransitive) ¢ (Jsidl S - Ditransitive) : cxe sl IS Joadii ia > (Vi) giria Jad-2
e 4l 5458 Jad been" (is, are, was, were) 4 gl Judi-3 (dsmid

> (4.&4 ji Jag)  Jad -Copula) A "Non-finite verb-22sx
He is here /J%a

4ia 5l s > here J=é > is Jeld > He
(4= 5l y Jeé -Copula) =i o2 > " here" diall ol Jually " He" Jeldl) Loy 5 " " 4l

(have) 3x: (been) axdiuiv i soaane e 453l Jod uaind (have) - 25508l Jad 3 Lavie (S5
(e a5 Aladll de panall 8 Lgilin) LiSay jaic & 5 (C) Alasallg

GRSl (ga (A 5 > Laan) 5 Ll NP -

(Raall 3 le ) Liasll 5 5lall Adj -0

48l 5 lall Adv =

(dO) sdluall J grdall-5

(I0) Sl sl Js2iall-6
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* The following table shows the five basic types of clause structure in English:

4 5y el 3 (clause-s_lell) el duadl) &) 1 W yedsh 6 Jgaal

Type Structure of VP Examples
1 Vi a.__ a. We waited.
b.C b. We sat down.
(Adv)
2 BE +C a. NP a. He was my friend.
b. Adj | b. He was intelligent.
c.Adv | c. He was in my class.
3 Vit +dO + a.___ | a.I made a mistake.
b.C b. | put the key in the lock.
(Adv)
4 Vt +i0 +dO a. (to) | a.lgave him an answer.
b. (for) | b. He made me a suit.
5 Vt +dO +C a. NP a. | found him a bore.
b.Adj | b.|found him boring.

[Vi] :ds¥) £ sill-1

Clila) eu> S+ Vil
Jel'S : We < We waited
aJ¥ Jad Vi : waited
Gl > S+ Vi+ C(Adv) /o
Jelé S : We < We sat down
¥ J2d Vi : waited
Jeldll 5 Jadll Al oo La aiils 55 ci s Adv : down

clélal Lailllla >>>  [BE + €] 1S4l £ 5il)-2

S+Be+C(NP) /i
Jeld S : He < He was my friend
Ligig Jab Be : was
Jelll 5 Jaill dlaSa & L Lgiids 5 5 4gand 3 0e NP : my friend
S+ Be + C (Adj) /<«
Jeld S : He < He was intelligent
45 Jab Be : was
Jelill o Jadll dlasa o U Leidids s 5 4da Adj : intelligent

S+ Be+C(Adv) /=~
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Jeld S : He < He was in my class
4348 Jab Be : was

Alaa o L Lgidida s Cigl ()5S Ll U SO WS 5 j9 20 9 ks 3 Le Adv (PP) @ in my class
Jeldll 5 Jadl

dO il Jsrie + Vit grie Js2ie >>> [Vt +d0O] :&4 g 5il1-3

Clils) su > S+Vt+do /i
Jel S : | < | made a mistake
(Monotransitive verb — Jsxiall (gaal (saxia J=d)  (s2aia J2b Vit : made
s J92da dO : @ mistake
Gllal >>> S+ Vt+dO + C (Adv) -«
Jel@ S : | < | put the key in the lock
(Monotransitive verb — Jssiall aal (saxia J=d)  (gaia J2b Vit : put
s J2da dO : the key
AaSa o Uin Lgiida g5 il ()55 Ll LSO LS 5 y959a 5 ks 50k Ad (PP) : in the lock

clial Wil >>> [Vt +i0 +dO] il £ 5ill-4

S+Vt+i0+dO + (to) /i
Jeld s : | < | gave him an answer
(Ditrnsitive verb — Jsxiall Sl (saxia Ja8)  gaia Jad Vit igave
A £ J28ai0 : him
Hilsa Jg2ia dO : a mistake
D(to) aladiul AT Sy daal) Aelua (Sas

2 e BV Jsmid) i o Saall (e 4l Jaal aleall d2lua s2le) (0 > | gave an answer to him
Al ) Jgradl & (e 5 (to)

S+Vt+iO+dO + (for) -<
Jel'S :He < He made me a suit
(Ditrnsitive verb — Jysiall S (saxia Jad)  gaaia J2d Vit : made
il € Jp2dai0 1 me

Kl Jgada dO : a suit
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: (for) aladiuly AT &y dlaall dslua (Sas*

S BV a0 Jsmiall i o oSl (g 4 Baad dleal) d2lua sile) (0 > He made a suit for me
e Ll il &5 e 5 (for)

Al o (sing o g lia > (e + 5l Jgrda +gania Jad) > [VE +dO +C] 1ol £ 6ill5

S+Vt+dO+C(NP) /i
Jels : | < | found him a bore
(Monotransitive verb — Jssiall galal sasia (i) s3ia b Vit :found
Hila Js2da dO : him
AlaSa & Ua Lgiaday s NP : a bore

OIS 4) s (Fralld callay) 3 el Fnall (g s 43Y Aleall ¢ &5 L (| found him) J sl LiSe Y*
(s paadll @l () e s b Al ) g Adliay Sl el G (A 13 5 (4ian 5 A ey pdla

S +Vt+dO + C (Adj) -«
Jes: < |found him boring
(Monotransitive verb — Jyiall salal saxia Jad)  (gaia Jad Vt :found
K Jg2ia dO :him
Alaa o Ua Wiada sy Adj : boring

¢ As we mentioned at the beginning of the lecture, each of these types can be expanded
with optional elements like adjunct and modifiers.

For example, we can expand the first sentence in Type 1 as follows:
We waited. (Type 1)
We waited in the car. (Type 1 + Adjunct)

A a) jualic A e < @ o (Seall e o) 51 038 (e g 58 OS¢ 5 pualadl 8 T U S5 LS 5%
(Yl 5wl sl)S

(SIS I g il 8 A5Y) Aaad) a5 (Raall (g0 /i
(Js¥ g 5l ) > We waited
ALY 038 d5a 5 agall e ol OS5 Alaal) g i Lin > (@i + J5Y) g il ) > We waited in the car

¢ Simple sentences have only one clause. They can be expanded even more by combining
them with other clauses as we will see when we discuss compound and complex sentences.

pea ) A (e Jaall 028 53 (Sadll (a5 ¢(One clause — bad saal 53 jle) e (g gind Aagad) Jaall*
foranal) Lpanss il jball Jayy & g Bl 5 Binall Jan) A2 lia W) (adl) (e T3] ] s AT s imns
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Jeall e ci¥ana) 5 ool sl i) (Sanll (pa o(daih gl Jandl b dmitie LIS Tt Ll 1S3 il il jlual))
i) 5 A5l el Ll (558 (S Al Aleal) e 5 0ke o ST 5o e dila) Ll 5 Aapes

¢ Be careful not to confuse these five types of basic clause structure with the five types of

complex verbal groups that we discussed in Lecture 5.

(complex — saizall) duwadll 15591 a5 5 ualaall 038 8 o Ll oLl Al dsadll &) 51y ) ol W*
2 duwaldl) B pualaally > duledl) e ganall

| made a mistake — We sat down - We waited < (33al53 ke o (g 5iad) dasn dlea /J0a*

| can make a mistake — We can set down - We < (s2al53 ke e (5 5ia3) complex - 33ze dlas
can Waite

¢ Producing “good grammar” is often a question of fitting a verb into the basic type or types
appropriate to it.

glsil Jals o ol g il Jas Jadll s Alle e V) s 331 gy Llle (o 45 g B2 8) Ly
(il Gl S )

For example, the verb “tell” can fit into basic type 3, as seen in the first example below; and
it can also fit into basic type 4, as seen in the second example below.

e.g. 1.He told the truth. (Type 3)
e.g. 2.He told me the truth. (Type 4)

il A Bl 8 BN o LS ¢ ¥l M g sl e sy o

(Jsrial) salal sasia Jad ela " told" Jadll Lia ) Gl ¢ 63l > He told the truth -1
JUs > He

(Monotransitive verb — Jssiall (saal (saxia Jad)  gaaia J2d Vit > told

Hila J s2da dO > the truth

Ditrnsitive — Js=idl (S sa2ie Jad sl " told" Jadll Ua ) &) )l & 5l > He told me the truth -2
(verb

Jeds > He

(Ditrnsitive verb — Jsxid)l Sl (gaxia Jad)  (giala Jad VE > told
il £ J2da iO > me

e Jg2da dO > the truth

On the other hand, the verb “explain” can only fit into basic type 3, but not basic type 4. For
example:

e.g. 1. He explained the answer. (Type 3)
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e.g. 2.INCORRECT: He explained me the answer. (Type 4 is not possible with the verb

“explain”)

4gm\.m“>1\ @\J&\ &}.\3\ & iy Y Sl “;ml.ﬂ\ Sl &}\S\ & ulily 38 "explain” Jaal) ‘5)53 Aall (ga
JEd d.-.‘-“ ‘_A;

Lss &l ¢ gill > He explained the answer

s > He

(Monotransitive verb — Jsaiall galal gaxis Jad) g2l Jad Vt > explained

Hiba Js2da dO > the answer

(Ol sada 330 of (S Y "explained” J=il) oY > He explained me the answer :J s (hlal) o
Exercise :

Which of the underlined elements is NOT a necessary element of the following clauses? If all
elements are necessary, then choose “d”.

a. (1) b. (2) c. (3) d. all elements are necessary

1. He was in my home yesterday.

1) @) (3)

(S28) Adas) & (5 )9 2 > was

C.(3): 5o sl 1Y)
\ ——=) Al 8 5 )5 02> inmy home
ksl s 5 iyl > yesterday

2.Maha is agood student.

(subject -Ixise) aall 8 (5 )5 2 > Maha

d. all elements are necessary : s < sall 13) . .
(D) Ueall G g5 2> s
(S oa Y &ha 3 e ) Aaall 4 (5 )5 2 > 3 good student

3. The angry man waited impatiently.

1) @ @)

("mdn" <! aliza =y -45.4) %5)1:\3';\ > angry

a. (1) : s sl 1y . .
(subject -Jeld) Aleall 8 (5 )5 a2 > man
(J28) deall & (555 02 > waited

Exercise:
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Identify the basic clause structure type for each of the following simple sentences.

a.BE+C b. Vt+ dO c. Vt +i0 +dO d. Vt +dO +C

1. Faisal wrote a book.
Jeld's > Faisal
b- Vt+dO: "_‘\Jl';j\ M tragsitive verb—d sl (salal (saxie Jad) saaia Jad VE > wrote
Al Js2da dO > a book
2. He is a good writer.
’ Jés >He
a.BE+C: s sl 1) i .
Aighs Jad V (BE) > is
4laga A gdia C (Adj) > a good writer
3. He gave me the book.
Jés >He
C.VE+0 +d0 1 sa lsall T3y 1sitiie verb — Jsaidl (S gaeie Jad) gl J2d VE > gave
Sl £ J2da iO > me
il J2da dO > the book
4. | found the book interesting.
Jolés >|
4 Ve 10 +C: u\ﬁj\ iy trarfsitive verb—J ssial) saal (sasie Jad)  (s22ia J2d VE > found
il Js2da dO > the book
Alaa & 9 4da C (Ad)) > interesting
5.The book is in my library.
Jelb's > The book
a.BE+C: s sl 13 15538 Jeb v (BE) > is
Alasa A gib gl Js € (Adv) > in my library

Adv (P.P)
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Variations of Basic Clause Structure Types

Variations of Basic Clause Structure Types:
Common Variations of Basic Clause Structure Types..

rAlaad) gl B bl Apdlady) Uil £1 53 il yil)
WALl g B lall dpabuy) s Uil £ o dadlil) sty

1. In type 1, “there” can be used as an introductory subject.
e.g. Three exceptions exist. (Type 1)

There are three exceptions. (Variation of type 1 using introductory “there”)
eThe pattern in this example is: There +BE + Subject

adite 12iS 202505 38 "there" 4l J Y g sl 31
Three exceptions exist /Jb«
Jeléd -S > Three exceptions
(S + Vi) ds¥l g 5l

Vi > exist

There are three exceptions

( e 13 — introductory subject) 3sa 5 Js¥) g sl sl © i+ — introductory subject) > There
" There“ .;\_Ajs e\ﬁé-\ul-‘ 3..\_9.\:\5 d—‘ﬁ V (BE) > are

late subjedt (S) J3tis lxis > three exceptions
There +BE + Subject @ $& "ladi" Jliall 13¢3 Jaaill*
2. “There” can also be used as an introductory subject in a variation of type 2.
e.g. Some books are on the shelf. (Type 2)
There are some books on the shelf. (Variation of type 2 using introductory “there”)

(S g all il 8 e i 22305 8 "There"dalS-2
Some books are on the shelf /Jta

Jeli -S > Some books
(S + BE + C) Ll ¢ il L€ J=8 V (BE) > are
& s <Lk sl Ja € (Adv) > on the shelf

Adv (P.P)

There are some books on the shelf
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( i 13 — introductory subject) s 5 S g sl ) e — introductory subject) > There
" There" 4alS sy 4518 J=d V (BE) > are
late subject (S) JAlie Ixie > some books
aliSe 4 5kl Js C (Adv) > on the shelf
Adv (P.P)
3. Type 2c, can be reversed when the adverb is “here’ or “there”.
e.g. Mohammed is here. (Type 2c)

Here is Mohammed. (Variation of type 2c)

* There are other variations that we will not discuss here.

"here" Calll aal s Calall S Ja 138 s Lavie JAl e Jeldl 5 Jeldll lSa Jlall Jlagiad (Saall e
. "there" sl

Mohammed is here /Jbe

Ixise -§ > Mohammed

Adv s C osS Of ¢Saall e 5 (S + BE + C) Sl g 5l 43538 Jad V (BE) > s
Sa A 5k sl s C (Adv) > here

Here is Mohammed

( #35e I — introductory subject) > Here
( pie 1w — introductory subject) 3sa 5 S g il il o _
"Here":\.dsg\ il d"‘}";&d"ﬁV(BE) > s

late qubject (S) JAlic lxie > Mohammed

Lecturell

Coordination

Coordination:
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In the previous lecture, we discussed the five basic types of clause structure.

Each part of the structure of a clause can be duplicated (doubled) or added to by
Coordination. For example, the subject is duplicated in the following sentence:

Mohammed and | are good friends.

The two parts of the subject in the previous sentence are joined by the conjunction “and”.

Conjunctions are words like “and,” “or,” and “but” which we use to connect grammatical
units/elements in a sentence.

¢ If we combine more than two parts, we usually separate the parts by commas, using the
conjunction to join the last two parts only.

e.g. Mohammed, Ahmed and | are good friends.
Aleadl 5l 5 el el dusedll bl ¢ 5V e Wand A8 5 jualadll 3
Ao Alea]) el adliak 0585 o 5 (e lal) adeliab (5S5 ol (Seall o Alaall 5l 5 jlall ey (e 5 5 JS*
Ao Alaall maat] ALY i ddcliad) & Liids b C¥aal) 5 ol sl Jls el o (lBdall) Ggaedal) 130
SIS (Jelal) dielian aplaioss 3 /Slie-
Mohammed and | are good friends
(and) Cabae o ddas) 5 Uayy 4aslad) dlaadl 3 i) S
Alaall 8 b jualic sl 4 gaill Cilaa gl Jay )l Lgeasins 1 5 and, but, or e Calasll Cag pa
(I -Mohammed) 1 il s Uiy 5 Gilaal) JUall -
Lo e el aY) Juadl (Alaldll) andindd ol a e ST day 33 of La 1 13) S -
sl n AT Loy g alaal) G-
Mohammed, Ahmed and | are good friends /Jt
(Alald) s Laaliliad of 30 i
(ilae Cia) = Laalilay ) ol ja A

_(and) B alaall 8 a-

Types of conjunctions:
1. Coordinating Conjunctions (coordinators)
These are single-word conjunction, including: “and,” “but” and “or.”

e.g. | want Ahmed and Saleh to come see me.
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e.g. | want Ahmed or Saleh to come see me.
e.g. | want Ahmed but not Saleh to come see me.
sdbaal) Lig A 8\353
(Oshniall) o e 8 >> 1(Ahpuniill) dbeaial) cilaal) i -1
r ) el 5 jiie S o T3] (53 5010) Basl 5 Al () 55 38 Cadaall g
and, but, or
| want Ahmed and Saleh to come see me /Jts
Les Lt S Ahmed s Saleh i 3l lalies La > and
| want Ahmed or Saleh to come see me
(Lagie 2n15) Lid Ahmed sl Saleh )l 3l Wliaa La > or
| want Ahmed but not Saleh to come see me
Saleh ki 5 s Ahmed Casiin) il lalins Ua > but

2. Correlative Coordinating Conjunctions

” u ”n u

These are pairs of words, including: “both... and...,” “either... or...,” neither... nor...,” “not

only... but also...”
e.g. | want both Ahmed and Saleh to come see me.
e.g. | want either Ahmed or Saleh to come see me.
e.g.| want neither Ahmed nor Saleh to come see me.
e.g. | want not only Ahmed but also Saleh to come see me.
: (4das) yiall) A Dlial) (Ashauniill) Abuial) cilaal) Ciga -2
S e (Sl e )5 5) A s S e ke A
both... and...,
either... or...,
neither... nor...,
not only... but also...
. e Jauly 2l LY a0 idaa e sy /G
| want both Ahmed and Saleh to come see me

B > and &= either « «ilba > and g« both
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| want either Ahmed or Saleh to come see me
(B > or e both ¢« il > or g« either
| want neither Ahmed nor Saleh to come see me
—iba > nor &= neither
| want not only Ahmed but also Saleh to come see me
—iba > but also &= only
3. Subordinating Conjunctions (subordinators)
4. Correlative Subordinating Conjunctions

We will talk more about the last two types when we discuss Subordination in Lectures 12
and 13.

(Rada) daala) Cibal) Gig a3
13 512 W pmladl B S5icls ) {‘w‘ (Aaczial) Al ikl iy -
Exercise:
Choose the type of conjunction in the sentences below:
a. Coordinating Conjunction

b. Correlative Coordinating Conjunction

1. My brother and sister went to Dammam. < a. Coordinating Conjunction s Jall
2. They are both polite and friendly. <+—— b, Correlative Coordinating Conjunction s Jall

3. I not only like swimming but also diving. = <«—————b. Correlative Coordinating Conjunction s Jall

4. | like swimming but not diving. < a. Coordinating Conjunction s& Jall

We can compound/coordinate any level of constituents (grammatical units) - words, phrases
and clauses.

Ldea g alle ¢ &_ILAS-(M_,;JQ\J;JQQ)Qh}&w&wé\wj\#ju&#*
. constituents — <l sSall) amay (deadl 5 Sl jlall 5 Gl o a8
 Coordination of Words

Coordination can link two or more words of the same word class as in the following

examples:
Nouns:

e.g. Football and basketball are my favorite sports.
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Adjectives:

e.g. My friend Khaled is funny and intelligent.

Adverbs:

e.g. We must finish our work both quickly and efficiently.

¢ Coordination of Phrases

slalS) gaiic
SIS ALK A i e SISl italS day ) aadaid Ciliial)
a1
Football and basketball are my favorite sports /Jt
aal > football

(and) Guid) Calaall i jay len) L
basketball
LS ]

My friend Khaled is funny and intelligent /Jts

44a > funny
_(and) Baiall Calaall (s lisiall Lisls
intelligent

i i i3
We must finish our work both quickly and efficiently /J%s

J= >quickly

.(both - and) a3 3als Cale (o J) Y L

efficiently

Two or more phrases of the same type can also be linked together through coordination as

in the following examples:

Noun Phrases

e.g. The old man and the young boy crossed the street.

Verb Phrases:

e.g. Many of the grammatical terms must be studied and will come in the exam.

Adjective phrases:

e.g. The topics are very interesting and really useful.

Adverbials:
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e.g. You can wash your clothes by hand or in the washing machine
10 ad) G
IS cCabaall g pn VA (o a5l A3 i (ga ST Sl (8 e day ) gt Ll i)
e 3 e-1
The old man and the young boy crossed the street /J&s
(old) (w1 & Jsxe > The
el 3 e I man) s_lsll Ll ) > old
(old) Y v J32e > man

(A_QL:: A_GJ;) L‘.’J 3al > and

(yofing ) wi Ul L8 Jase > the
elie boy) 3kl (i ) > young
(youhg ) il (saxs Jaxe > boy

1lad e -2

Many of the grammatical terms must be studied and will come in the exam /J&s

(must be studied) < 3aira d3lad dlaa Ua Lt
Type 1 > Modal +Infinitive > must be
Modal > must

Infinitive > be

Type 4 > BE +Past Participle > be studied
BE > be

Past Participle > studied

(idae 8 a) Loy 3lal > and

(will come) < Al Baina dtad Alay Ui L Lyt
" passive voice" Type 1 > Modal +Infinitive > will come
Modal > will

Infinitive > come
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(and) a5 il Cayay Laalilay ) (e (pilad (e sane Lual Lia 13 *
a5 e-3

The topics are very interesting and really useful /Jts

(very interesting) : & ¥ Adag 3 Lal*

"intereqting" diall 18 Jaea &5 sk Js > very

ddiays e .. ) _
4ua > interesting
(cibe <aya) by 3140 > and
(really useful) @ A 4Gl dda gl 3 jLali*
"usdful" diall L8 Jaea &5k Js > really
dha s jle

44 > yseful

(and) st cilae Cayay Laalilay ) (s (yifiiea s G jbe Lual Lia 13 *
A8k 8 le-3

You can wash your clothes by hand or in the washing machine /J%
(by hand) : & ¥ 4:d B 3 jLal*

A <s>hy

Jsoaa s s le

daaul 3 e > hand

(ke q);)la.u'ébi>or

(in the washing machine) : (& 4Gl 438 1Y) 5 jLati*

a<a>in
soaa s b le .
4peul 3 e > the washing machine

Olisbe Laa 1) i a5 be 06 goaad) 5 olall s be o e LSA LS 5 55 5ma 5 s Ule LaadS ™
(or) sa5 ahe Caag Laalilay ) (jlisias Glid Hla

Compound Sentences
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¢ Coordination of Clauses

A compound sentence has two or more clauses which are linked by a coordinator.

14 jall Jaal)
1daal) (e
Bine — 48y — Aoy 1055 38 Alaa) Of A5l B gall 028 Ay 8 U SO LaSH

aibaal) Cig ya Aand 53 pgdasy o ST Sl (58 1 8 Al Aenl

¢ All of the clauses in compound sentences are coordinate. In other words, they are of equal
rank. None of them are dependent on (part of) another clause. They are all independent

clauses.
(O s8ie agatand B3 I 558 g IS 1Y) (ol Ain o A el Jeal) L8 "clauses -daall— il " s
(equal rank- suia a3 ) A8 jall Jaall &l il paas 45 5a0 5 jlas
(oA 88 e a ) oAl 58 e dpalaie] ()55 il E oda (he 55 Y ¥

(A e o AoV (550 (e 43l Jan (5585 il (1) Aliine Cul i (5S35 ol 3 028 paan®

The following are examples of compound sentences:
(S all Jaal) oo Al 0o B ke Ul
e.g. 1. Everyone was in the room and the doors had been closed.
Yl e_all > Everyone was in the room
4080 5_adl > the doors had been closed
(and) s "cilae Copa" dayy slab oy jE day ) W

e.g. 2. Everyone was in the room, the doors had been closed and latecomers had to wait
outside.

¥ 5 3l > Everyone was in the room
40l 3,4l > the doors had been closed

44l 3,8l > |atecomers had to wait outside
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A 558l e Y16 8l Juad 5 5 (and) b s "calae Caat oy y slaly RN 5 Agl) 5 jaal) Loy ) S
(Alali)

e.g. 3. Some students didn’t do the homework and the teacher knew, but he didn’t say
anything.

&Is¥) 3l > Some students didn’t do the homework
480 5_adl > the teacher knew
4l 3 &l > he didn’t say anything

Al 5 IV sl Ly ) 5 (Alaali)y 48 suse (but) 25 "cilae Cha dayy slal LA 5 A6 5 58l Ly o5
88l o g ) (but) Calaell Coja J Alald 3 L LaadU> (and) 25 "calae Caja" day ) slaly Ll
il L ALl 3 ga g8 aifie AN 5 GV o 8l g Adie el Lia 23N

e.g. 4. Either he didn’t bring the book, or someone took it from him.
s¥1 5,8l > he didn’t bring the book
48l 3 8l > someone took it from him
O L Uit ALalill 35 5 ¢ ALaliy 38 suane () o 5 il o a" Lay y 3l ALy 30 5 58l Loy 5 5t
U ALalill 3 5 e ) @B 5) ks Ll Ui ALaldl 5 3 "0y (o 385 (oI B8 o Lagd (el
causes Aagll 5 cundl 3 Lidal W claclall 4 1385 = Y1 Aleall sy & " Either" S 25a 5 5
(el & 5 "and effects-
e.g. 5. I'm selling my car and (I’'m) buying a new one.
Ss¥1 5l > 'm selling my car
O 8l (e Le Cada (Saall (30 = 430 3 53l > (I’m) buying a new one
(and) s "cibe Coa" dayy 3la o jE day ) o
e.g. 6. Mohammed is going on a trip for a few days, but (he) will be back before Saturday.
¥ 5l > Mohammed is going on a trip for a few days
G 8l G e cada (Sl e = 408N 5 88l > (he) willl be back before Saturday
. (but) s "calae o " Lay ) by ¢y ) Ly ) o
e.g. 7. He may have received the letter but (he may have) forgotten to reply.
s 5l > He may have received the letter
O 8l G Le s (Saall e = 438N 3 8l > (he may have) forgotten to reply

. (but) a5 "cale Cajat Ty sl o 8 Ly ) ¥
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¢ As seen in examples 5, 6 and 7, when the subjects of the two clauses refer to the same
person or thing, the second subject can be deleted. We can also delete the second verbal

group if it is the same.

Jadll 5 Gadil) Gais e ()l gy US 13) 408 58 (he agdnd o (Saal) cpad ol il & Jadl) 5 Jeldll 5 S5 130
Oiileal) M indl

O ) sl e AN ) gl () salall s2a ) sda) U Ak e el
JSiadjle se NV 6 54 a8, Jla) 5al) AliaY) oa b Alaldll 3 5
(Tl 5 Bl o8] A ae oS0 5o o810 SLE A3 a5 o XS5
Exercise :
Decide whether the following sentences are:
a. simple sentences b. compound sentences
1. My neighbor and his family are going on a trip.
(they) Al (88 Jeldl Jlagiul (Raall (30
aaly Jeld el "they" = " My neighbor and his family" o !
a5 J=8 > going
they are going on a trip : Js#

a. simple sentences : sSsw @l salld aal g J=d 5 aal 5 Jelé®

2. My neighbor is going on a trip but his family are not going with him.
&s¥1 553l > My neighbor is going on a trip
48l 3,8l > his family are not going with him
deld his family Jiidu = deld My neighbor : b La3l
2ela Jad gre = 2clue Jaé s
J=é not going = J=é going

"but " s (ke Caya) day el Glilai e liLE Loal s 13 Jad e ST 5 Jeld e ST
b. compound sentences : s < sall () Saud

3. Either | lost my wallet or someone stole it.
¥ 5,8l > | Jost my wallet

404l 5 jall > someone stole it
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Jeld someone Jildally = Jeld | ;L Jaadl
J=d stole = J=é Lost

"or" sas (cake Caa) Jay sl gliad ye Gl Ll Ua 13) Jad (ge ST 5 Jeld e iSI*
b. compound sentences : s < sall () Saud

4. The wallet was either lost or stolen.
Jelé > The wallet
Cilad > stolen s lost
a. simple sentences : s Jall () sSud Jab (e ST 5 aal 5 Jeld Ll Ua 13)

ol Aasad) Alaal) Ll 5 sbuia JS5 Jad (e ST 5 Jeld (e ST Lgd 2 5 2 3Y ASpall Alaad) () sdiadlall **
Alen yiiay Lia > dal g Jad agrang oSy Jold (pa JST aie )5S Gl ) sl 138 Jeany o) oyl (e

(Aass o2a) 5 Alaall il L
Exercise :

Decide whether the subject in the second clause is:

a. Optional (can be deleted) (L3~ (Say) 480 b, Obligatory (cannot be deleted) ¥) 4l )
(L S

1. My neighbor is going on a trip and his family are going with him too.
Jelé > My neighbor
Al Jeld > his family
b. Obligatory (cannot be deleted) 1 st < sall 13) ¢ Laaaal Cada Say ¥ 5 clalide
2. My neighbor is going on a trip and he will take his family with him.
Jeld > My neighbor
"(My neighbor) delill (i e 392y juan 2" Jeld > he
a. Optional (can be deleted) 1 & wlsall 13 ¢ Laaaal Cada (Say 5 el
3. Sara will study hard for the exam, and she will try to get high grades.
Jeld > Sara
"(Sara) Jeldl Lusi e 29y paa " Jeld > she
a. Optional (can be deleted) 15 lsal) 13 ¢ Laasal cada Sy 5 (leobitia
4. Sara will study hard for the exam, and Maha will do the same.

Jdeld > Sara

Aoll a0 4S5 ©



A A agally dpe 483

Al deld > Maha

b. Obligatory (cannot be deleted) : s <l sall 13) ¢ Ladaal Cads Koy V5 lalida

Lecture 12

Subordination
Subordination:

In Lecture 1 we said that sentences can be divided into simple, compound and complex
sentences. We discussed simple sentences in detail in previous lectures, especially Lecture

10, and compound sentences in Lecture 11. In this lecture, we will discuss complex

sentences.

A complex sentence has two or more clauses joined by a subordinating conjunction. At least
one of the clauses is subordinate to a main clause.

A main clause (also known as an independent clause) is a clause that can stand alone as a
complete sentence.

A subordinate clause (also known as a dependent clause) is a clause that cannot stand alone

as a Complete sentence.
4Gl Jaad)
R AT PG PEQPI W VIS PO § SYNRIE PO | R VIR s ONg PEN | Qil.'\lﬁ‘sb“ﬂ\'é).h\;d\‘;é

‘;:\_S)A\ M\M\;Jcﬁﬂw\ﬁ)@h&\@u}a}wM\ Q\)m\;d\&dé‘asﬂbw\ Jead) LZ8L
daaaall Jaall BJ.-'AL;AJ\ XYY GAU"‘EL"‘”} P :\.:QBJ\ B).u.'a\;d\

(one clause — 52l 53 i) e (5 sind Aol dland)

Cile Cagyn JA (e peaiany (sl e (two clauses or more — Sl oy j8) e (s siad 1438 sal) Alaal)
( ~’~w/ :;) :-'” .

cabe Cagoa A (e ageiany (phasi 1 (two clauses or more — 1 5l oy i) e (g siad 13 aaal) Alagd)

3

byl (clause) 3_adl) 2 daal) g 48

2 Y (one clause — sas) 55 i) i simple

Coordinating Conjunctions :J3& ¢ two clauses or — Sl sl oy jai) compound

Correlative Coordinating Conjunctions sl (more 4S5
Al Calae Cogja — agduaii Cilae (g ya)
(4= )ia

Subordinating Conjunctions :JY& (s two clauses or — siS! O )8) 52320 complex
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Correlative Subordinating | (more
Conjunctions

Al (oo Chgpa — A Galae i )
(4a )i

s)w\w)ﬁwssoigi) Aall 38 e dolaie) o5 of ol 4 0 585 @l a2 saa) JBYI e *
(Al

s 5@l a5 (independent clause - Aliiual) 3 5ll) Layl c5 (main clause - dsaba) 5 jaill)*

5l a5 (dependent clause - dulaie¥) 5 jidll) Laad e :(subordinate clause - 4l 3 adll)*

¢ A clause can be subordinate by being able to do one of the following:

A cLaaY1 san) Jae gt (o YA (o (4pnll) o e o 5l (Kot
1. replace an NP in the main clause
e.g.  Everyone could see it.

Everyone could see (that) he was frightened.

The subordinate clause “that he was frightened” is a noun clause. It functions as the object
of the verb “see”.

2 AuluY) 5aaN 3 dpend) 3 lall Jladial-1
Everyone could see it /J&s
. (see) dxdll Jsmia 58 5 dansl 5olie s 5 e >t
Al Al 5l e dalaie) 5 dulud 558 > ((that) he was frightened) = < Ll
d=dll > see
i e 2t Aldie dlas > Everyone could see
(see) Jaill Jsaia o Ua Lgiis 5y dpend dles . " that he was frightened" il dleal) 13) *
2. modify an NP in the main clause
e.g. |oftensee my old school friends.

| often see friends who were at school with me.

The subordinate clause “who were at school with me” is called a relative clause. It functions
as a modifier of the NP “friends”.

Al 5 AR 8 dpa) 5 jladl Jiaai-2
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| often see my old school friends /J%s

. (my old school friends) 4sill 3 jLall (ul 1) 8 5 dsaudl 3 e > friends

" friends” < (U 4l S aas agaaen > my + old + school

dgie Y (Clause — 58) g 55 ALl ¥ ane OGN o3 slagivd (Saall (e
. " friends" w1 Jexl (subordinate clause - & 5 58) alaiiul (Saall (e 13

3l e dplaic) a5 4l 553 > (who were at school with me) = “my old school" < Llaiul*
Algial) 4l

.(main clause - lul 38) A 5 Uitue dlea & > (I often see friends) 13*

(subordinate clause) 4nlic) dea & > (who were at school with me)

Mriends” osl 1) J35 5 Al 5l des Ua dpalaie V1 dleal)

Al Alaall 5l & g gall Aaalls e i " who were at school with me" 4l Alaall 3%
S friends" dsen) 3 jlal) Jaded Ua Lgidda g

3. replace an adverbial in the main clause

e.g.

I met Ahmed twenty years ago.

| met Ahmed when | was at school.

The subordinate clause “when | was at schoo

|II

an adjunct in the main clause “I met Ahmed.”

is an adverbial clause of time. It functions as

p Asulady) 5_RAN & i g Bl Jlagiul-3

| met Ahmed twenty years ago /J%e

oLl e < la > twenty years ago

4aul 3_le > (when | was at school) = < slilagiu

Ledia (et 58 a*

I met " damlud) Alaall i U Leiida g5 gl oo 45k dlea & " when | was at school” dal) dleal

."Ahmed

Aid b 4 Juildll g s 43 Jadiedl) A gl g Jaiual) Jand)
"see" Jaill J szia 58l e galalie)-dpenl 358 | that he was " s dgand 3lbe> jt | Aran) 3 ladl Jlagiul
" Everyone could see" 4wl | frightened see it e (1o Ll 3l B
¥l B jlall Jane 58l e galalel- Luwi dlea | who were at daeu) 3 jle>my old school | dwew¥) 8 jlall Jlaiisl
" friends" " | often see friends"dliiudl | school with me | my old school friends :dlex (s L) 5 El
¥ 5 Eall | e galadie)-cla )l e 48 5k des | when | was at a,l> twenty years ago | <okl Jlagia)
"I met Ahmed" "I met Ahmed"4&iwall 3 38l | school Y 5 yaal)
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A subordinate clause is usually introduced by one of the following:
1. a subordinating conjunction, e.g. when or that
2. arelative pronoun, e.g. who, which, whose
ALl L) san) DA (e 33 Bale dgaladieY) 3 jadl*
that sl when :dpalieY) Cilal) g a -1
whose sl which sl who 4 s sal) i Lsedl) jilaall -2
Compare:
1. a. He was frightened. (Independent Clause)
1. b. that he was frightened (Subordinate/Dependent Clause)
2. a. 1 was at school. (Independent Clause)
2. b. when | was at school (Subordinate/Dependent Clause)

Examples “1.a” and “2.a” are independent clauses. They are complete sentences by

themselves.

Examples “1.b” and “2.b” are subordinate clauses. They are not complete sentences on their

own. A main clause must be added to “1.b” and “2.b” if we want to make a
complete sentence from them.

40 4.
s s (JGall)saal | JUal) a3,
. 4l Aldhe dea- | He was frightened 1.a.

(‘ds.u.m 5_jad)-
Aal e 4ilaic) das- | that he was 1. b.

(i) 38)- | frightened

Al Alen graad Lo aaterl Bl 3 i ) Zlias
. 4l Aliiie Mea- | | was at school 2.a.

(ds.u.u 5 jad)-
A e dplie) dea- | when | was at school 2.b.

(iolaie) 5 _ji)-

Al s raa 5 Lgle aaiadl dpuld 5588 ) 2l

Exercise:
Decide whether the underlined clause is:
a.dependent b. independent

1. It was obvious to everyone that he wanted to leave.

5 "that he wanted to leave":Jsi o) akins ¥ "that" 4alS 2 sa 5 1aa35 > that he wanted to leave
b. independent : s sl chplaic) dles & 13) Lol 5 5ae s Alan ot LY Alaall 5
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2. He wanted to leave and this was obvious to everyone.

5 "He wanted to leave™:ds& o) aakains (Aliiue Ll sf) dalaie] ye dles 234 > He wanted to leave
a. dependent 1 sl sall 13} €Al g ke dlea zraaiv LY Aleall g

3. My friends came to visit me when | was in Dammam.

5" when | was in Dammam":Js& of gakiws ¥ "when " 4alS 3 a5 a3 > when | was in Dammam
b. independent : s <l sall 5 dhoolaic) Alaa oo 13 Lail 5 5ae e Alen uai Y dleal) g

4. My friends came to visit me, but | was in Dammam.

¢ 5"l was in Dammam ":d & of aakin (i Wil ) dalaie] e dles 23 > | was in Dammam
a. dependent : st < sall 13) ¢l e Alas raaiv LY Alaal

Types of Subordinate Clauses :
1. Noun Clauses
2. Relative Clauses
3. Adverbial Clauses
4. Other (Conditional Clauses, Result Clauses, Purpose Clauses... etc.)
s Ayl Jaadl g1 il
e Jaall-1
A gaan sall 5l Bpnsil) Janll-2
48kl Jeall-3
4k all Jeall-Conditional Clauses < s al-4
datiiall 5l 43l Jaall-Result Clauses
Lua 2l daledl Jeall-Purpose Clauses
43,84l Jaall-Comparison clause
4jahiall Jeall -Reason clause

We will take a look at each of these types in the following sections starting with noun
clauses.

e Jaady Tedy ) a3 o) ) e e JS e 5k il
Noun Clauses

Noun Clauses :
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We can divide noun clauses into that-clauses and wh-clauses. A that-clause begins with

“that” and a wh-clause begins with a wh-question word, e.g. what, who.
LoansY) Alaal)
v v
"that J Jea" that-clause AL dals > wh ) Jea" wh-clauses
(that) = fas What-Who /Jie (Wh- question ) Sy fag

A that-clause can have four of the functions of the NP. It can be:
:That ) Jea -}
15552 NP sl 8 jlall e Cilla 5 4 o sSE of (add) (50
1. Subject of a Verb in another clause
e.g. That the driver could not control his car is obvious.
(=It is obvious.)
Note: “That” is obligatory in this sentence. We cannot delete it.
p s Al Uaa (B Jadll faia i Jelify
That the driver could not control his car is obvious /Ji«
It is obvious ="It" Lsexall Ldlaiul wlains 5 ¢ Jeld > That the driver could not control his car
d=é > s
4lsSe > obvious
Jeld Cela " It is obvious"iles & (It) delS**
 ledda LiSa Y dlaall 3 ((obligatory— 4l 3ll) < (That) 4alS La- ;ads sale*
. (That) 4K ;53 (the driver could not control his car is obvious) :J 8 gk ¥*
2. Object of a Verb in another clause
e.g. Everyone could see (that) he was frightened. (=Everyone could see it.)
Note: “That” is optional in this sentence. We can delete it.
p s A aa B Jadll J s2ief2
Everyone could see (that) he was frightened /J%
Jeld > Everyone
aclue J28 Modal > could

J=d > see
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Everyone could = (it) _peall allaivl (Sadl (e 5 ¢"see” J=dll Js2ia > (that) he was frightened
see it

Ssee" Jadll Jg2da ela " Everyone could see it" Ades 3 (it) deIS**
Ledia i cdleall 84, )1 “That” 4alS Lia- ;4L gale*
Everyone could see he was frightened < zoaié dlaall (1o Lgads sk
3. Complement of Subject +BE

e.g. The truth is (that) he was very shy. (= The truth is this.)
Note: “That” is optional in this sentence. We can delete it.

1A 5 Jab + faizall o) Jolill Alasa/3

The truth is (that) he was very shy /Jis

Ixise > The truth

LS Jxd > s

The truth =(this) 5_LEY) auly adlain) (Saall o5 ¢ 4538l Jadl 5 Ixisall 1S > (that) he was very shy
is this

Ledda i ddlaall i 4y )Lia) < (that) 4l La- 140 gale*
The truth is he was very shy < muai dlaall (e i apkaivi
4. Apposition (to nouns like “fact”, “truth”, “explanation”)

e.g. The fact that he was shy surprised me.

“That he was shy” is an appositive noun clause that refers to the same thing as the NP “the
fact”. We say that the noun clause is in apposition to the NP.

Note: “That” can sometimes be deleted in this case.
:Ja /4
. explanation — truth — fact /Jie ¢ clau) -

The fact that he was shy surprised me /Jt«

daul 3 e > The fact

Jaall g1 (528 (That-clause)! (s« 358 .8 5 ~> "Noun clause” 4! dlea 8- > that he was shy
L Aauy)

Lalaic) 3 488

Ja-
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. (The fact) e 3 Lall a0 58 (that he was shy) o (Ui ¢ sinall (i Lagl LaaDIS-

B35 sa (453 Bale (815 Alad) o3 (o Alaall (e 335 (O (Sadl) (e (that) 2alS Glal) sy 3 140 gale*
The fact he was shy surprised me < zuai

Reported Speech:
Reported speech can be either direct or indirect.
1 skl lladl)
il g sl e ()5S 8 el sl

a. Direct speech is quoting the actual words spoken by someone. In this case, we write the

quoted sentence between quotation marks (“”).

Lol e (L) L)) A3RTAN Zadl 5l U Wl (e 5 e s 1 pdibal) qildadd) (i
(7)) s LY e (G Alefidl) Aleal) (iS5 ddlad) o2a (&

b. Indirect speech is restating the words spoken by someone. We can use a “that-clause” to

report indirect speech.
e ol (e (L L) B354 Sl 4elpa sale) (e 3 ke s 1 pdia pad) Giladld) (o
(4 sanall LS delia U e WsY) QY] dadle aadin of () s LS cllall o3a 8
VIV G RV é”é)‘\l (That-clause) pladiul WiSay ¢dllal) oda 4
e.g. The man says, “The road is closed.” (direct speech using quotation marks)
The man says (that) the road is closed. (indirect speech using a that-clause)
s Gl 8Y) Liaxiiinl ¢ y&lae Qb > The man says, “The road is closed” /Jtis
Aéi"that" 4alS Laadial  gdilse & lbad > The man says (that) the road is closed
B. Wh-clauses
A wh-clause can have four of the functions of an NP. It can be:
2(Wh-) 3 Jea -
(0S5 38 ¢ NP dsan) 3l e iilla g 4 8 5 5S5 ) Saall (e
1. Subject of another clause
e.g. What caused the accident is a complete mystery. (= It is a complete mystery.)
1l ddaat Jeld /1
What caused the accident is a complete mystery /J%s

It is a complete mystery="It" sl dllagiul (Ka 5 <|xise > What caused the accident
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d=é > s
2. Object of a verb in another clause
No one knows what caused the accident. (= No one knows it.)
1A Aaa (b Jadll Jgada 2
No one knows what caused the accident /J%«
Jelé > No one
J2é > knows

No one =(it) _xexall allaiivl (Sadll (e 5 ¢" knows" J=dll J s2is > what caused the accident
knows it

3. Complement of Subject +BE
The question is what caused the accident. (=The question is this.)
140 00l Jad + Jaisall o) Jolill Alasa/3
The question is what caused the accident /J%
lxi > The question
UGS Jxd > s

((this) 38Y) auls Ldlagiul (Saall o ¢ 45380 Jadl 5 fxiall dleSe > what caused the accident
The question is this <guai

4. Object of a preposition
This depends on what you want. (=This depends on it.)
1 dijal Jsrda /4
This depends on what you want /JU«
Jeld > This
J=é > depends
s >on

This depends on it =(jt) sealls Allaiul WSy 5 ¢ (on) sall sl J 246 > what you want

Exercise:

What is the function of the underlined clause?
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a. subject b. object c. complement d. appositive

1. The fact is that no one could do it.

el >THe fact
S +V (Be)
S (x> s

.l JLSY dleall 8 aga Waga s Y ¢ A& > that no one could do it
c. complement : s < sall 13

2. What he discovered was important for science.

Jeld > What he discovered
L€ Jxd > was
a. subject ; s <l sall 13)

3. The fact that no one could do it disappointed me.

(Aen) 3 be) Jelé > The fact
(Aanl Aea) Ju > that no one could do it
d. appositive ; s il sall 13

4. Everyone knows that he made a great discovery.

Jeld > Everyone

J=é > knows

" knows" Jaill J =i > that he made a great discovery
b. object : s il sall 1)

5. The workers rely on what the manager has to say.

A > on Jd= > rely Jeld > The workers
(on) sl s a1 Js=ée > what the manager has to say

b. object : s i sall 1)

Lecture 13

Relative Clauses
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Relative Clauses :

In Lecture 12, we discussed subordination and the types of subordinate clauses. We talked
in detail about the first type of subordinate clauses: noun clauses. In this lecture, we will
cover other types of subordinate clauses in more detail.

sl Jaal)

Al Jaal) gl il 5 adeill Ll ¢ yic Al 3 jualaall 8
A Jaall el Jaall J5¥1 g il e Juadilly Whass
- ST Sy el Jaall (6 31 £ ) arias 66 jualaall 028 3

2. Relative Clauses

A relative clause is a clause which mainly modifies a noun phrase. It usually begins with a

n

relative pronoun: “who”, “whom”, “whose”, “which” and “that”.
e.g. 1. The car which he owns is very old.
(The car is very old. He owns the car.)

Sometimes the relative pronoun can be deleted (zero relative pronoun), but it still exists as
a grammatical position in the clause.

e.g. 2. The car he owns is very old.

In example 1, the relative pronoun “which” is the object of the verb “owns”. Similarly, in
example 2, the zero relative pronoun is the object of the verb “owns”.

: 4gal Jaad) 158 g
el Janl2

Aaan¥) B jlall uld JK8 Jasd ) Jeal) o
23 (3o JS who, whom, whose, which, that Al duud) jilecaly Jeall o3a fas Sale
LB day aie Eaatin ald aladiu) 4l el

The car which he owns is very old /1J%

daall 22 5 (Which) s& L aadiisa) couall jpauall 5 400s 5 )3 Lge 55 42 dlea 4 > which he owns
. (owns) J=ill Jsxia 58 (Which) secall 5 duilia) cila slaa Lihe | g8 ¢(car) il dlaaa o Leidida

o 5aS 13 93 sa i (K15 ¢(zero relative pronoun)e = 5 <eisg B faill jpaall lall ey 6

The car he owns is very old /2Jb«
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szl 5 (zero relative pronoun) = e (ol jpaall 5 40 dles Lo 53 4nii dles A > he owns
S owns" Jadll Jgmia g Ua (i)

The relative pronoun points back to the head of the noun phrase modified by the relative

clause. The head of the NP is called the antecedent of the relative pronoun.

e.g. The man who called us yesterday has come to meet you. (the pronoun “who” points

back to the head of the NP “man”. “Man” in this sentence is called an antecedent.)
sl jilasall (a3l uaisll-antecedent) ) oo aaadiv YI*
Apail) 55l A (e e 3 Lpans¥) 5 lall Gl I ) ey ansil) jpeniall
il yecall (antecedent -paiall Gul jll) e daan) 3 lall Gl i

The man who called us yesterday has come to meet you /Jt«

cdeld Lk g Al 3)ke > The man
(Who) il el (antecedent -»3is sl ) 585 (The man) dsew¥) 3 5Lall Gl ) 58 > man
(man) Jelll Alheas Lgiids o5 Lpensl dlea & > who called us yesterday
S man” oI i (who) 1) ¢ man” s 4 adiiall jpeaial) 5l jueda > who
e The Use of Relative Pronouns:
A. Personal Relative Pronouns

The personal relative pronouns “who” and “whom” are used with human antecedents.

e.g. 1.There is a man outside who wants to see you. (There is a man outside. The man

wants to see you.)

e.g. 2. Ahmed, who/whom | told you about yesterday, is here. (Ahmed is here. | told you

about Ahmed yesterday.)

2=l & (antecedents — daaial) )..AU,J\) e 2l e eh-‘“‘i L.Ji S Al yilaall e paall (LB Lag*

duaddl) Lpwdl) yilaal) -

.(human antecedents -y A 2d5 Al dasiiall jaliall) ae a2diud e & (Whom - who)

There is a man outside who wants to see you /1Jt«

¢ Q¥ () ey pafie jaic 8 "man's "man” e 252 < who
There is a man outside. The man wants to see you : guail daall o328 Juad (Say
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Ahmed, who/whom | told you about yesterday, is here /2J%

¢ Olay! ‘__,J\ Oy Glediie ) pwaie Laa 3 "Ahmed" ‘_Ar_ Ja g2y < Who/whom
Ahmed is here. | told you about Ahmed yesterday : zuail daall 238 Joad (Say

Ahmed, who/whom | told you about yesterday, is here*
. Baiaall Alaall & Jeld ols (Ahmed) 44lS La
Ahmed is here. | told you about Ahmed yesterday®
Aladial dlaall (8 43 J s2ie cla (Ahmed) 41 La
B. Non-Personal Relative Pronouns

The non-personal relative pronoun “which” is used to talk about animals, objects, places,

ideas... etc.

e.g. |wanta watch which is waterproof.

ipadd ) pdl) ekl -
(‘;.4;..1 R i £ Lﬁi) clj‘)\ssi}“ 9 USLASY\ 9 cL\J‘Y\ 9 QU\}:\AJ\ & e.ﬁ;:h.u:\ aa 9d (WhICh)

| want a watch which is waterproof /J%s

«( animals, objects, places, ideas... etc) e Ju "watch" 5 "watch" e 252 < which
(which) eeill yeall aaiia jaic s " watch"-

C. Personal and Non-Personal Relative Pronouns

The relative pronouns “that” and “whose” are used with both personal and non-personal
antecedents.

e.g. 1.There is the driver that was speeding. (“that” used with the personal antecedent

“driver”)

e.g. 2.There is the car that was speeding. (“that” used with the non-personal antecedent

Ilcarll
DAl ) Apaddl) L) il

& s human antecedents -Oludy) (Y 038 (Al deatiall jaliall) ae padind jlaa o4 (whose - that)
(S8 5 Sy 5 el ) gaal)

There is the driver that was speeding /1JU«
4% dea > that was speeding
(driver) s axsiall jaiall 134 ¢ludy) ) jady edd a3l palie aeolieddiul 5 sl pea > that

There is the car that was speeding /205
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4%s Aea > that was speeding
.(car) s (‘M\ paiall 138 f§add pe aMia paic xaeolieddiul 5 iy > that
Note: “Whose” gives the idea of possession.

e.g. 1. The man whose car you borrowed wants to see you. (The man wants to see you. You

borrowed his car.)

e.g. 2. We saw the castle whose walls were made of rocks. (We saw the castle. Its walls

were made of rock.)
:(whose) (dll jsadall oo 4 gale*
(Whose) sl jraall aadinsi (e puia g oo Sl L i 13)
The man whose car you borrowed wants to see you /1J%
44 e > whose car you borrowed
(i _pea > whose
.(Whose) zwill jaall aiiia paic s > man
e s > (ool 8 5kl ) (e 588 clacY L " Whose" Lieadiivl-
tJ 58 8a8aall Alaal) Jumd Lia i 13)-
The man wants to see you. You borrowed his car.

We saw the castle whose walls were made of rocks /2Jt

4 dles > whose walls were made of rocks

(i _paa > whose

.(Whose) il el aliie paic @ > castle

e aada s > (aall e de gias L0 ) jaa o) e 388 clacY s " Whose" Lieaiiul-
1] 5% 8aaall Alaal) Juad Lia i 13-

We saw the castle. Its walls were made of rock.

tdaga da glaa*
Alaall 8 il el Jao s Le asd cang ALY o3 Jiad Jall die-
a5 lall & (el U Alead) 8 AT () 685 Ll dgauaill Alaall-2

e flatal) (S s Aleal) 3 s e e Al Aleal) 13)-3
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¢|n the following section, we will talk about the third type of subordinate clauses: adverbial
clauses.

A0l Jeall s ) Jeall e G & sl e Gaaniio ¢ ) adll 3%
Exercise:
Which of the subordinate clauses in each of the following sentences is a relative clause?
a. relative clause b. not a relative clause

1. The machine which makes plastic bottles is broken.

e idls 5 > which makes plastic bottles
2l pe ol jaie > machine

@) lasa s 0¥"which makes plastic bottles"ileal) sda (o elixin¥) (Say 13
(Aaal ima (e (el Y alias 13 )

a. relative clause : s <l g2l

2. The manager is upset about what the worker told him.

ile&a lgiads s > what the worker told him
Jeld > manager

¢ Ja) Lasa s (Y"what the worker told him"ieall a3 ge liaiu¥) (o Y 13
(Al ima (e (it lalids 13) )

b. not a relative clause ; & <l sall

3. The problem is that he didn’t oil the machine.

ale&s Wil 5 > that he didn’t oil the machine
l3is > problem

¢ aa) Lasa s (Y"that he didn’t oil the machine"ileall sda oo Lt ey ¥ 13*
(Al ima (e (il lalidds 13) )

b. not a relative clause ; s& i sall

4. The worker that forgot to oil the machine is speaking with the manager.

s il 5 > that forgot to oil the machine
2 pe adle paic > machine

@) Lasa 5 (Y"that forgot to oil the machine"ileall sda (e cliiuN) ¢ Say T3f*
(Al e (e (il Y L 13 )

a. relative clause : s <l sall
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5. They called a technician who could fix the machine.

asa isds s > who could fix the machine
Qi) ) ey (il a3l paie > technician

ki) L s 5 0¥"who could fix the machine"ileal) s3a (e elixinl) (Say 3%
(Alead) ine o (S Y lalidds 13) gl)

a. relative clause : s «ilsall
Adverbial Clauses
3. Adverbial Clauses:

Similar to adverbs and adverb phrases, adverbial clauses allow us to talk about time, place
and manner.

;48 I dlaad) -3

Gl 5 S 5 el e Cnaally W ans Al Jaad) ¢ Lalas 38l <l jlall 5 Cag b and ¢ 6l 1
RO

e.g. | met Ahmed in 2005. (adverbial phrase of time)

I met Ahmed when | was travelling. (adverbial clause of time.)

He parked his car here. (adverb of place)

He parked his car where there is a parking sign. (adverbial clause of place)

He drives carefully. (adverb of manner)
He drives as his father did. (adverbial clause of manner)
| met Ahmed in 2005 */Jt%
el e Wi 4 5k 5 e & > jn 2005

| met Ahmed when | was travelling *

(8 o2 5) Gl e Ll 48 jla Alas (lee ¢ ¢A0as5 Alea & > when | was travelling
He parked his car here *
O e Wi a8 )55 be 4 > here

He parked his car where there is a parking sign *

(28 o2 ) Ol e Ul 48 s dlas (lee ¢ ¢0a5 Alea & > where there is a parking sign

He drives carefully *
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sl o sl e Uy Ja s casla > carefully

He drives as his father did *

(5 o2 s) Al sl glud e Ll 38 5k dles tlge 5 ¢4325 Alaa & > as his father did

n o«

Note: The words “when”, “where” and “as” in the previous sentences are subordinate
conjunctions.

Ao Cadae Cag e e 5oke A8l Jaal) Ld "when- where- as "<l 1Al Lot

Adverbial clauses also have functions similar to adverbs and adverb phrases. For example,
the adverbial clause in the following sentence is an adjunct:

e.g. | met Ahmed when | was travelling. (The adverbial clause “when | was travelling” is an
adjunct.)

a5k y ) Aleal) 8 sl Aleal) /e A STl laall 5 Cag Al Al il 5 gl a0 Jaal)

I met Ahmed when | was travelling

() Letiuda § 438 )k 430 Aas > when | was travelling

Compare: | met Ahmed in 2005. (The adverbial phrase “in 2005” is an adjunct.)
T A\
| met Ahmed in 2005
00 Lk g (el e Ll dd )l s e 8 > in 2005

¢ In the next section, we will look briefly at examples of some other types of subordinate
adverbial clauses.

AR el Jeall 5 AT g1 Y e ABil e jlaialy 3 jlas il ¢ Ul audll 3

Other Adverbial
Subordinate Clauses

Other Adverbial Subordinate Clauses :
4. Other Adverbial Subordinate Clauses

Please return my book if you finish reading it. (Conditional Clause)

Ahmed is quicker than | am. (Comparison Clause)

| couldn’t open the door because | used the wrong key. (Reason Clause)

He closed the windows so that he wouldn’t hear the noise outside. (Purpose Clause)
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rs A B Lat Jas
rs AT & )k A Jaa -4
(if) > : Conditional Clause - 43k &) Alaali-1

Please return my book if you finish reading it /JUs ¢ s Caag

(than) > : Comparison Clause - (dgzsdill) Aulucadil) dlaal)-2
Ahmed is quicker than | am /JUs ¢ Gl (4 )lia
(because) > : Reason Clause - (sudl) 4i8laial) dlaal)-3

I couldn’t open the door because | used the wrong key /JG« ¢ L ¢ 2 Jeae s zrnia 3

(so that) > : Purpose Clause - 4xa_all ilaali-4

He closed the windows so that he wouldn’t hear the noise outside /Jta
1Ak gale*

T AY) A Y Lal Jaad) g 485N Jaadl-

wiren, where, as-
"subordinate conjunctions " Al Calaall Cag ja ab e
11, uidn, necause, so that-

}MA:‘\_\)JSA_\Y\M\‘:JLUJ&JS ¢ M;M}Mh)ﬂ\&aﬂ\@bﬂuﬁﬁﬁ + 4Baadla *F
ul (M\ il Hlaxl) las " Personal Relative Pronouns"ilaidl yilaall e J\Im) AAadia
el Bl el ) el e s L2

A e sall Jaadl ol anil) Jaall :Wlies (Relative Clauses) of !
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